
Computational Complexity — Quiz 2/25 Laurenz Weixlbaumer (11804751)

It is assumed that the tape is initially set to zero. Using another symbol for emptyness wouldn’t
really make sense in this context in my opinion. (Because we want the alphabet to be printable,
how do you print emptyness?) I use

”
#“ to mark the starting position, this is also printed as a

”
divider“ between the binary numbers. The print state is labeled p.

A transition (*, *, L) should be interpreted as: Read any c of the alphabet c, write c to the tape
again and move left; this is done to declutter the diagram, such edges can trivially be replaced with
usual ones without changing behaviour.
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Outputs 0#1#10#11#100#. . .
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